S Diamatic

The Choice of Professionals

Service Instructions

Diamatic-735PRO

Original Service Instructions
Version 1.0

Diamatic
622 Grant Rd
Folcroft, PA 19032
Tel: +1 619-295-0893

A 13 C€

www.diamatic.usa

info@diamatic.usa



S Diamatic

The Choice of Professionals

Table of contents

2. Spare PartS....c.iciicririaianra s
3. 735-LP Spare Parts ....c.cccvmvemimmmmimsnmsnm s i s nnnnaas
4. Electric schedules.......cuiviiiiiiinnnnsnnnsssnsnsssnsn s ssnsnsssnnnssnnnnns
E06866 / 3x 400V / 11kW / frequency drive .................
E06866/UL230 / 3x 230V / 11kW / frequency drive

5. Fault diagnose frequency drive ....ccccrververiermerrerressassassansans

www.diamatic.usa Page |2

info@diamatic.usa



S Diamatic

The Choice of Professionals

1. Tools

Diamag grinding wings & Accessories

@240 MM COMPLETE
WITH STAR WHEELS

EQ7240-2 BG707321 #18 - 20 BG707311 #18-20 BG707301 #18-20 BG707341-2 #30 - 40
DIAMAG BG707322 #30 - 40 BG707312 #30 - 40 BG707302 #30 - 40 BLACK GRINDING WING
A e = | BLUEGRINDINGWING | BG707313 #60 - 80 BG707303 #60 - 80
BG707314 #120 - 150 BG707304 #120 - 150
GREEN GRINDING WING RED GRINDING WING
: V4
L X
2N
n
E10692 BG200997-1/SET E09580 ROTARY E09119-1 E09368/FINE
DIAMAG PCD SPLIT WING PLATE ONLY @240 MM BUSH HAMMER VELCRO PLATE @240 MM
ADAPTER PLATE BG200995-1/SET E10240 PLATE @240 ROLLER For Polishing pads
WINGS PCD PCD 1x1 WING MM COMPLETE WITH 250 MM
2240 MM BUSH HAMMER ROLLERS BG300109 E09368/COARSE
E10240/SW PLATE CUTTER WHEEL VELCRO PLATE @240 MM
@50 MM For Maintenance pads

BG240001 #40 #1 - orange BG240M004 #400 #4
BG240002 #100 #2 - Black BG240MO005 #800 #5
BG240003 #200 #3 - Blue BG240MO006 #1500 #6
BG240004 #400 #4 - Red BG240MO007 #3000 #7
BG240005 #800 #5 - White

BG240006 #1500 46 - Vellow MAINTENANCE PADS @240 MM
BG240007 #3000 #7 — Green

POLISHING PADS @240 MM

10 M SUCTION HOSE

005014

@76 MM

www.diamatic.usa Page |3

info@diamatic.usa



S Diamatic

The Choice of Professionals

2.

Spare parts
Frame complete

www.diamatic.usa

Page |4

info@diamatic.usa



S Diamatic

The Choice of Professionals

Part number

Description

1 BE0643 Tube cap round 2
2 E07032/RD Handle for steer long 1
3 999-9156 Pipe clamp (set) 2
4 BE0191 M6x50 hexagon socket head bolt DIN 912 4
5 EQ07882 Operating box complete 1

E01543 Emergency stop

E01318 Start button

E01351 Potentio meter complete (speed switch)

E01323 Left / right switch

E05130 Make contact (green)

E05131 Brake contact (red)
6 BE0641 M10 clamp lever 1
7 BG005835 Steer handle 1
8 BE0640 M12 hexagon shoulder screw 1
9 BG11751-1 Handle locking pin 1
10 E06860 Clamping pin steer 1
11 BG11758 Cord for deadman switch 1
12 BG11759 Key for deadman switch 1
13 BG11760 Deadman switch 1
14 EQ07008 Chain (11links) 1
15 BEO0653 Hook 2
16 E06883 Swing arm for dusthose 1
17 478198 Quick release pin 1
18 BG005338 Cover plate electro box 1
19 BG11917 Electrobox 15kW complete 1

BG11917/UL230 Electrobox 15kW complete 230UL 1

| 20 E05135 Electrical inlet 3x400V 32A 1

E05134 Electrical inlet 3x230V 63A 1
21 E06904 Wheel bolt long 2
22 BG11850-1/1 Wheel spacers 4
23 BG11850-1 Wheel 2
24 BE0036 M12x40 hexagon bolt 2
25 BG005825 Frame 1
26 E06286 Water coupling 1
27 E06285 Waterhose connection 1
28 E06282 Ball valve mini 1
29 E06279 Water reducing coupling 1
30 E01492 Megi bush 2
31 BG11752 Hinge bolt 2

E06892_ RD 735PRO logo red 2

E06820 Diamatic logo 4

www.diamatic.usa

Page |5

info@diamatic.usa



S Diamatic

The Choice of Professionals

Machine complete

www.diamatic.usa Page |6 info@diamatic.usa



S Diamatic

The Choice of Professionals

Part number

Description

35 BG005847 Protection cap 1
36 BG11924 Upper belt 1
37 BG11923-11E2 Motor 230V/400V 1
38 BE0654 M8x16 set screw DIN 916 4
39 BG007808_2 Coupling upper part 1
40 BE0656 M14x140 hexagon socket head bolt DIN 912 3
41 BG007810 Flange motor seat 1
42 BG007811 Motor seat 1
43 BG005844 Coupling plastic star 1
44 BG11829 V-seal 1
45 BE0635 M8x110 hexagon socket head bolt DIN 912 6
46 BG007808 1 Coupling under part 1
47 BE0188 M6x25 hexagon socket head bolt DIN 912 1
48 BG007339 Protection cover 1
49 BEO0655 M6x12 hexagon shoulder screw 4
50 E06281 Water T-coupling 1
51 E06278 Waterhose 1,5m
52 E06276 Pipe clamp 2
53 E06897 Slide strip 2,5m
54 E06293 Nut for knee coupling 2
55 E06280 Water knee coupling 2
56 E04551 Plastic cap 1
57 BG007349 Brush for floating shroud 1
58 BG007355 Floating shroud 1
59

www.diamatic.usa

Page |7

info@diamatic.usa



S Diamatic

The Choice of Professionals

Upper drive

www.diamatic.usa

Page |8

info@diamatic.usa



S Diamatic

The Choice of Professionals

Item Part number ‘ Description Remarks Qty.
60 BE0631 M8x40 hexagon socket head bolt DIN 7984 4
61 BG005856 Contra pulley 1
62 BEO0648 Key 8x7x18 DIN 6885A 1
63 BG005805-1 Pulley 1
64 E01560 Taperlock 1
65 BE0443 M10x25 hexagon socket head bolt

66 BG005860 Upper tensioner 1
67 BG005813 Holder 2
68 BG005809 Motorplate complete 1
69 BG005857 Centre pulley 1
70 BG11904 Middle belt 1
71 BG005834 Lower plate upper drive 1
72 BG005807 Ring 1
73 BG007804 Flange 1
74 BE0350 M6x10 hexagon head screw 8

www.diamatic.usa

Page |9

info@diamatic.usa



S Diamatic

The Choice of Professionals

Lower drive

www.diamatic.usa

info@diamatic.usa



S Diamatic

The Choice of Professionals

Iltem Part number Description Remarks Qty.
75 BG005814 Ring 1
76 BG11849 V-seal 1
77 BE0617 M6x50 countersunk screw DIN 7991 2
78 BE0051 M6x25 hexagon head bolt DIN 933 18
79 BG005827 Cover 4
80 BE0030 M8x25 hexagon head bolt DIN 933 4
81 BG007322 Housing complete 1
82 BG005832-1 Holder 1
83 BE0090 M8x40 hexagon head bolt DIN 933 1
84 BG005858 Drive pulley 1
85 BG005859 Pulley 3
86 BG11940 Lower belt 1
87 BG005861 Lower tensioner 1
88 BG007324 Lower plate 735PRO 1
89 BE0035 M6x16 hexagon socket head bolt DIN 912 18
90 BE0188 M6x25 hexagon socket head bolt DIN 912 24
91 BG007850 Inspection cover 2
92 BEO0082 M8x12 hexagon socket head bolt DIN 912 6
93 BG0005826 Ring 3
94 BG11797 V-seal 3
95

96

97

98

www.diamatic.usa

Page |11

info@diamatic.usa



S Diamatic

The Choice of Professionals

Contra pulley BGO05856

Iltem Part number ‘ Description REINERS Qty.
100 BG005803 Belt pulley 1
101 BE0109 Key 8x7x20 DIN 6885A 1
102 BEO0O76 Retaining ring for shaft @25 DIN 471 1
103 BG005802 Bearing house 1
104 BEO0O77 Retaining ring for bore @52 DIN 472 4
105 222-2331-E Bearing 2
106 BG005801 Axle 1

www.diamatic.usa Page |12

info@diamatic.usa



S Diamatic

The Choice of Professionals

Centre pulley BG005857

Iltem Part number ‘ Description Remarks Qty.
108 BG005812 Sprocket 1
109 E03703 V-seal 1
110 BG005806 Pulley 1
111 E01490 Bearing 1
112 E03993 Retaining ring for bore @90 DIN 472 1
113 BE0126 Retaining ring for shaft @50 DIN 471 1

www.diamatic.usa Page |13

info@diamatic.usa



S Diamatic

The Choice of Professionals

Drive pulley BGO05858

www.diamatic.usa

info@diamatic.usa



S Diamatic

The Choice of Professionals

Item Part number Description Remarks Qty.
115 B20404 Bearing 2
116 BG005815 Bearing house 1
117 BE0256 Key 8x7x30 DIN 6885A 1
118 BG005818 Axle 1
119 BE0269 Key 10x8x32 DIN 6885A 1
120 E00718 Taperlock 1
121 BG005820 Pulley 1
122 E00951 Retaining ring for bore @62 DIN 472 4
123 BG005821 Bearing house 1
124 B21631 Retaining ring for shaft @30 DIN 471 2
125

126

www.diamatic.usa

Page |15

info@diamatic.usa



S Diamatic

The Choice of Professionals

Pulley (3x) BG005859

www.diamatic.usa

Page |16

info@diamatic.usa



S Diamatic

The Choice of Professionals

Item Part number Description Remarks Qty.
127 B21631 Retaining ring for shaft @30 DIN 471 3
128 RB100A3-350 Taperlock 1
129 RB165-2 Pulley 1
130 BG11817 Bearing 2
131 BG005816 Axle 1
132 E00951 Retaining ring for bore @62 DIN 472 4
133 BG005817 Bearing house 1
134 BE0256 Key 8x7x30 DIN 6885A 1
135

www.diamatic.usa

Page |17

info@diamatic.usa



S Diamatic

The Choice of Professionals

Upper tensioner BGO05860

Iltem Part number Description REINERES Qty.
136 BEO074 Retaining ring for shaft @20 DIN 471 1
137 222-2245 Bearing 2
138 BG005830 Axle for tensioner 1
139 BG005831 Tension plate 1
140 BE0130 M10x25 countersunk screw DIN 7991 1
141

142

www.diamatic.usa

Page |18

info@diamatic.usa



S Diamatic

The Choice of Professionals

Part number

Lower tensioner BG005861

Description

‘ Remarks

143 BEO0O70 Retaining ring for shaft @15 DIN 471 2
144 BG11792 Bearing 2
145 BE0618 Retaining ring for bore @35 DIN 472 4
146 BG005836 Pulley 1
147 BG005837 Axle tensioner 1
148 BE0458 M8x25 countersunk screw DIN 7991 2
149 BG005833 Tensioner 1

www.diamatic.usa

Page |19

info@diamatic.usa



S Diamatic

The Choice of Professionals

Buffer plate for surface preparation (3x)

www.diamatic.usa Page |20

info@diamatic.usa



S Diamatic

The Choice of Professionals

Part number Description REINEE]
igg BG240190-1 240mm diamond holder complete 1
igg BG2401901-1 240mm diamond holder 1
150 BG11880-HD Fork 1
151 M8x25 hexagon socket head bolt small | DIN 7984
BE0204 + BEOS84 | M8 spring washer small DIN 7980 3
152 BG11879 Buffer disc 1
153 BG11878 Buffer hard 4
154 BE0082 M8x12 hexagon socket head bolt DIN 912 8
155 BG11877 Magnet plate holder 240mm 1
156 BG2401901-1 Only complete with parts 157 - 160 1
157 BE0456 M8x16 countersunk screw DIN 7991 3
158 BG11811 Centering star 3
159 BG11810 M6x10 countersunk screw DIN 7991 6
160 E06446 Magnet 3
161 BE0608 Retaining ring for bore @58 DIN 472 1
162 BE0030 M8x25 hexagon head bolt DIN 933 1
163 BEO314 M8x30x1,5 washer 2
164- .
169 BG300117 240mm cutter housing complete 1
164 BG300501-1 185mm cutter housing 1
é25+1 BG300133 Locking pin & screw 6
167 BG300130 Axle 3
168 BG300109 Cutter 12
169 MPL48 Washer 15
| 170 E07240 DIAMAG 240mm adapter plate 1
BG200993-1 Plate for wings 240mm 1
BG200988-1 Dry polish dot holder 240mm 1
171 DIAMAG grinding wings 3
172 E06447 DIAMAG adapter plate for dots 3
173 Dry polish dots 3

www.diamatic.usa

Page |21

info@diamatic.usa



S Diamatic

The Choice of Professionals

Buffer plate for polishing (3x)

www.diamatic.usa Page |22

info@diamatic.usa



S Diamatic

The Choice of Professionals

Iltem Part number Description Remarks Qty.
175 BE0589 7/16 x 2"%2 hexagon UNC bolt 4
176 BG2402001 Flexplate adapter for axle 1
177 BE0012 M8x25 hexagon socket head bolt DIN 912 3
178 BG400310 Morflex coupling 1
179- .
182 BG2402002-1 Flexplate diamond holder 1
179 BG24020021-1 Flexplate diamond holder only 1
180 E06446 Magnet 3
181 BG11811 Centering star 3
182 BG11810 M6x10 countersunk screw 6
183 BE0456 M8x16 countersunk screw DIN 7991 3
184 E07240 DIAMAG 240mm adapter plate 1
BG200993-1 Plate for wings 240mm 1
BG200988-1 Dry polish dot holder 240mm 1
185 DIAMAG grinding wings 3
186 E06447 DIAMAG adapter plate for dots 3
187 Dry polish dots 3

www.diamatic.usa

Page |23

info@diamatic.usa



735-LP Spare Parts
Engine Mount Spare Parts

SDiamat

The Choice of Professionals

3.

info@diamatic.usa

Page |24

www.diamatic.usa



S Diamatic

The Choice of Professionals

ITEM PART NUMBER DESCRIPTION REMARKS QTY. ‘
1 LP735013 ENGINE Mé)I\LAJgI_TYI3NSCI-}_IERACKET / 1
2 LP735005 35HP Briggs LP Engine 1
3 11137084 3/8" Washer 4
4 11241199 3/8"-16-1.5" HCS 4
5 LP735001 Clutch / Centrifugal 1
6 E12425 Bearing unit compl. 735Propane 1
7 LP735003 Taper lock bushing 1
8 LP735002 Bearing Unit Sprocket 1
9 LP735004 Belt / Clutch to Bearing Unit 1
10 N/A Grinding Head Assembly 1
12 91375A796 5/8"-11-1.25" Set Screw 2
13 BHF081025121 M8 X 1.25 X 25 Metri-Torq Hex Cap 8

Screw
14 | WEMO061000520125A M6 Thru-Hardened Steel Flat 18
Washer
15 | WLR081000220127B M8 Lock washer
16 LP735021 Belt guard front 1
20 SRS061016220 M6-1.0X16 Gr 12.9 Socket Head C/S 10
21 WLR061000220 M6 Lock washer 10
22 LP735020 Lower Belt Guard/Rear - BMG-735LP
23 LP735022 Upper belt Guard/Rear-BMG-735LP

www.diamatic.usa

Page |25

info@diamatic.usa



S Diamatic

The Choice of Professionals

735-LP Handle:

www.diamatic.usa Page |26 info@diamatic.usa



S Diamatic

The Choice of Professionals

ITEM PART NUMBER DESCRIPTION Remarks QTY.
1 BG005845-RD Steer handle Red 1
2 999-9156 Pipe clamp 35mm (set) 4
3 MP10011 ignition switch 1
4 LP735069 Emissions light 1
5 LP735017 Emergency stop 1
6 MP10010 Tachometer 1
7 LP735078 Throttle cable bracket 1
8 LP735008 Throttle cable 1
9 BG11760 Deadman switch 1
10 BG005835 Steer handle 1

www.diamatic.usa

Page |27

info@diamatic.usa



S Diamatic

The Choice of Professionals

Electric schedules

E06866 / 3x 400V / 11kW / frequency drive

4.

13A -
JaquInu aApY -
J2qUINU UOISIASY - j
FEHEHEZ##(
d39WNN ONIMYAAd

Jaquuinu Buuuny - |4
IT 1T

3d0D 340D

abed 3jnpayds -

1573| |[oquAS -
Jaquinu buuuny - J

TT4TT
3d0D T09INAS

SUYM -
SUYM -
AUYM -

U310 /MO][A, -
peyg -
3oelg -
peyg -
510100

(2anwT) punoig / snuipy
aum dn-yooy

(danyz) snid

abejjop jonuo)

Ad / yueg

AODE SDEIOA IRy

d010D FJdIM

info@diamatic.usa

Page |28

www.diamatic.usa



S Diamatic

The Choice of Professionals

pisyls=b

BupiEz 13w wapsl

wapEl

pumsizam sieqEes

g2 spusipaq sy

EREyEyssBu BpRAaqIOLL

Byod-g :eswmnesaegesy;

Byod-z :eswamnesaegesy;

Bijod-T eewomneagEgEIsyl

JeEjERES ROy

JPGEEp, IS

BpEPS BRqEYES

paypRfEws

Jaloay

S8 LM [EUILLIS L

[EUILLIBL

1DE1U0D S|GEACLU LM JOISISSY

BAEA

WISIUELISLL L2IMS LM
L73IMS PEOLISAC J030LL
Jayeald UN2JD Jamod

ajod-sauL “IeNEag N

ajod-omg “sexesig IN20D

ajod-a|BuIs “Jeyeaig UncuD

LIS LIERK

ajod-aaiyy “paunosip pasng

3jod-a3.u3 ‘Youms pasnd

asny Aages

[<1]<I]<I}A
5 g

_\_\_tmm_vA

e
54
LLL

JOIPLLIOJSUELIDOAS

SOOPIEWICOPUEM

[
pursEaN

Buaipipen 1L

snd jpods

Susesmne

B pods

BuBeazuvoydo
oW peds

jods

JmEUIOgEURL

Jz{zuzn

smswaiedue

wiooy

duszzaubis

IBULIosUR WAL

WHI5

bBuneay / Joisisay

By agqny

‘ioz asind Aej.
J1o2 asjnd JoEjuc)

Ae@p no-doap ym
‘o0 AefaiopeiucD

Aeppp dnojod yum
‘i Aejaa/i013E1U0D

|10 AgjR.

|10 JopEueD)

Jawliojsuen

JEunod
anoybuiuun

Japwrwde

wioy

W6y jeubis

reepepssBuLRpey

IPEE{EIspUE

IEEEELISEIp

wesaibiy
Ie=jsauLEg

aneblin aimqeesp
25 duspool

IEREPLISIERID

JEepEpyIsEeIp dn

puzaliq
doupip

puzianbinia
Couprap

pusins pheenssn
pETEaIgE

usdo phERE
PEUOINERIG R

pusunjs pbeenan
“peuomERw

usdo peenmn
“BEUeRERW

peuosuabowsas

peweadny

yams Ayuuxoid

LIHMS i

LZ3IMS 3INSS31d

LPUMS JEjsOULIBY ]

Jojun Auejos
n_Bm ;_ucwm_w...._w

Buro)
youms Aiejoy

punogal
youms Aieyoy

Gupoj
uopogqysng

punogas
uagoqysnd

Apjap B Yum S350[2
1383U03 IN

Aepap awi ypm suado
“1EIU0D IN

ABJSP B Y)M 53502
“pejuos ON

Aep awiy ypm suado
‘eI ON

198U Jamod

1ejU0D Aejjixne

bo o
40
Fa\E
RSt
e
nr N
for N
i e

- =

info@diamatic.usa

Page |29

www.diamatic.usa



S Diamatic

The Choice of Professionals

N

0 ¢

e

ot

o

UoRINPY/ITI <= 0ZW
+vd/9Thl

vd/9Tli
¥
1571
T
ZSNTT
eSS 1571

_M_ TSNTT

OO+

vd/0Thl

“uuod
3
'dS Vg o W3
uuoj-330 oo oo SSe.g /el
A
A
A
T
__m,_ mu_mﬁ_hﬂu_
(] Bl 1AL pUIIE X
-7
ey —
Agidsig | —
L

sseig/ozll {

info@diamatic.usa

Page |30

www.diamatic.usa



S Diamatic

The Choice of Professionals

©
wv
>
2
=
£
8
®
]
(T4
£
HOLIMS
NYIWQY3a 310W3Y
ysng pus aim 7 7 ysng pus alm
m_ .\ \ Jhd WK _M
E I [ 1 591
wwigos = bus| [e3eL
13N18VD 310W3Y -
5Ng pUS U1 SNg pus SAM,
ysng p /S ysng p o
== 7 [ earmewuros ———=——-+- -
| 7/ | o
007 I 052 I 002 a0
WWOSTT = yBus| |erol
®©
a
puep I R ans
= wigT e Bumno Aue) plriys 1ejoud oy
PEDEIL0D 3G O 51 pUE pIELs = ._ apis cc_.mcr%nu 00w uo cnzm__.m:_ w_ﬂw"._}._m:__mn 2o
/o / I
\ \ [FADTSAZ Wbkt L
\ \ [
= ¥0LBW
st 056 0ot
WwpOzT = Wbus| |EreL
©
7]
=]
2
=}
£
8
T




S Diamatic

The Choice of Professionals

]
n

PAFT

ab@on [eIuc)

LS

i
20MT
3

1wt

a0t

widl 05T
ZHOS YZZ ADOF
ARTT 4090l

il 05kT
wIz=u]
THOSIADEE-AO0E
~E AT
— TWOT
W
34| M M N
“Srror - [
PO I I
“r-r-r- [
[ I S D s
o o Q o
3@ €1 AU L
ey
AN
V2T T
TL 1eangy
a nnon(ra
g 9 Plmot

wsan

ZHOS WIE NOOF
Addns amad
THOS MO0 95
WTE WAy 330
AR |

info@diamatic.usa

Page |32

www.diamatic.usa



S Diamatic

The Choice of Professionals

]
= x o
E EE g
g E g
F 3 & f 3
O
-
=
g
t-os ki
&
w7 % e s
O
R e
s ] ke
i
m‘:
e g
= oLt ﬁhl_ﬁ * o g
o} ! B
o = o 2o o od &
2 2
= e Fl >
HEE =g
%]
i z§ EF
EF = ?
g
¥ l
g g
o~ -
T z
z i

www.diamatic.usa Page |33 info@diamatic.usa



S Diamatic

The Choice of Professionals

(=]
E
=1
g
-
w
i
(=8
Cable name cable type
- " =3
Connection “|Zlz2lalxltle
point HEEIEIE
(=]
]
B
=]
o
=
i
=4
I'U
5 SEEIEE
)
F
o ol jumper
== -
i >< =
= terminal [P0 [ [P Py S U PO I Y S P A =
)
(‘G";if,llm ~|a|n|a|a]|s|a|s|a]=]2 |
=
2
-
&
b
=1
=
@lald|a e
EEEL g|5|8
Cable name cable type
48]
i
o
S 5
o c
=]
(4] e
— =
é s
H - =1
z = =l 12]3
fu- i i 2] [3|#
] g g|la
i HNANEIREINE TR

www.diamatic.usa Page |34 info@diamatic.usa



S Diamatic

The Choice of Professionals

000026091 T MLV 013M S N0Z eM pu3 T Ix
TO00TEE09T 57007 TS [PURLIR] 30 T I TX
[ 157 347 O1IM TG T [BUILLE) 34 AW T T Ix
000000655 SE M3Z Q1IN AR pag 3 TX

R TIGT-06T PIRNE SaBUy R T THET
YR 15 SEE-TIT gy uey T THET
DANET TE08408 Wi ETER M4 ] T THIT
160V S TI60N S92 FRRd T THIT
] AT HIT PESRELR 0T el T Tzt
TN TITTT N2 Tk O HEE T T5TT

TZITI N TZITT NIZ Tk oH R T T5TT

2av s 0¥ S92 FIPURY MG 1 1571

TN TITTT N2 Tk O W T 51T

ZEZ0 TR0 EEDVY S92 L5, NS4S UEROANEd T 511
TN IZITI N2 T ON WeaR Z TSNIT

FHESY ST S 582 dogs Aauabuaurg 1 T

TIZ-500 + Z64VdS0N TIZ-50% + T6{VE-50X Ul + s RS T TSIT
TZISN-SAN TZISTV-5d Anfas dogs Aausbusiy 1 it
QETHZSIHIRY DECETSSEEEY WE ARZI00 AGRS Jamod T THOT
SALATAS SO0 2D iRk e T T0T

FH TTOH LAY £ TTOH TLALY WATT Jpeaue fauanbaiy 1 ot
[ 9 065059 49 P0E PANG I8W SR WI0HTI0 VTE T TAOT

00 TV 00 X FUSTOA £ ) 910L/SE0LTIE e T 50

A3 57905 Nell 575705 i3 PRIRK-FHIN §'T4STW PUSID 31090 z 2d
10/ STZ 08 10dIW 57205 i3 PRRH-FIP § T4 52W 1o H 24
SELV STT 05 ST HI0ATELE 5 EGTH PPe] T 54
] 5 14 OTI=-02H ¥ YIIPNPSY 5 T29TH <- 02H HIRINFRY T 94

SEOLVE 91905 ST+ 0T W TALHVM, 5 E5TH PURE SR H E
SEOLVd 022 05 [ TR T 202N Ppe T E
SELY 02905 5T+02H Wd TALHVM. 5T 02H PUSID 5D T 94
WOZE 05 [ TR PRIR-FIPM § T+ 0CW e T 5d

TH s 5 14021 TALEVM. FEIRE-PEN § T+ 0TH PURE i T E

PHTA 3 ST 28404 el PRARPU STHIH o pU T e
¥TES IS FTELE [ e e L e e e T EIE)

J=quunu ved

Jagquinu adA)

uopeudisap

fanuenty

ey zoumap

35I| sUed

info@diamatic.usa

Page |35

www.diamatic.usa



S Diamatic

The Choice of Professionals

E06866/UL230 / 3x 230V / 11kW / frequency drive

1B3\ -
Jaquinu ALY -
12qUINU UOISIASY - ‘4
FHFHFHFH(
d3dWNN ONIMYYHA

Jaquuinu Buuny - |4
TTTI

3d02 340D

abed anpayps -

1213 |oquIAs -
Jaquinu Buluuny - J

TT4T1
3002 TO9IAS

2UYM - (DAAEE) punoig [/ snuipy
SUYM - aum dn-3ooH

SUYM - (Daarz) snid

abejop joauo0)

ua3.9/Mmo|[3A - 3d / yme3
¥oelg - €1
yoelg - 1
el - T1
510100 35e(d

NOET SDEIOA Ulely

OMY BULIM IV Y070 TUIM

info@diamatic.usa

Page |36

www.diamatic.usa



S Diamatic

The Choice of Professionals

AES

Bupsagar jaus st

szl

puEysaam aimqpEtas

chaps FPURRRG RLRR

e

Bjod- FRUCIIRAGE| Yl

Bypd-g ERUCTIRARR Y|

Bgpd-T ERUCTIRARRRY]

1R RER00y

ARG, =Py

SR ARERYS

PR

JBynsay

350 YIM [BULLIS]
EHIT=TY

PEJU0I B|fRrow M ISRy

WISIUYIBW LTINS LA
LpYIMS PRD|IEAD J0J0w
JEESI] YN0 JBMog

Sjod-aaiuy jeaiq ynup

2jod-omy UeyeRug InaD

2(od-2(0uls iaxeaug InuD

s uen

ajod-2au1y) ‘auuoIsIp pasng

sjod-a2ny ymms pasny

asny Aages

LD

SDOPTITTFIR 105
B

o] Bugeay [ joumsay

Buapyapan 1L by 2gnL

5ind pods ‘oz asind AejRu

Jie3 2sind Jopewon

Busbenss) Agjap nc-daup yum

bl o3 AejRifiopeuoD

Busingmmuoydo Aepp dn-pid yum

W Reds ‘lim3 Aejau/iopeiloy

Rods oo A

I3 I0DRILD

JIRUISIRS Bunojsue]

P J1Euno

AnayBuiuurg

TRRURRILR Japwude

upay oy

dugyeeuys W61 eubis

re——

SRR

sRREORp

wEpuBiy
WO

@il amgeep
U cespool

BB

IeRpERRERR

e}
doanprp

puzsaafinay
dougirup

puaynis pheegan
PRUOTEAI R

uaco phengan
PRI

puans pheen s
“pELaRe

usco phweg s
PR

ARHASLREOULRA

pacadyny

s Aol

papas Jur

oQIME 2nss2ig

UM JEISOUIIRYL

¥20jun Alejal
doys Ausbiews

Gupo)
youms Aoy

punogal
youms Aoy

Bupo)
unjoqysnd

punogal
ueqeqysnd

Ae[Ep 2w ym s3sop

“Pepios 3N

Apjap 2w ypm suado
“PEod I

fejap swg yym sasop
“PEII0I ON

Apj2p 2w pm suado
“PEICD N

1IEU03 JAMO4

PEqua Alelpne

info@diamatic.usa

Page |37

www.diamatic.usa



S Diamatic

The Choice of Professionals

not

1001

net

TAOT

a1e|d Buiunoyy

UoIINpaY (TN < =071
+ ¥d/3TH

Wa/3TH ]

ZENTT -

_M_ westser | O
TSNTT @
[]

dfozk

NOET
'd5 VES
w330

SERIEfZER uwiay-333

L1
x0T

=Ly
>m_n_m£ i

52218/0Tl

info@diamatic.usa

Page |38

www.diamatic.usa



S Diamatic

The Choice of Professionals

SSNURY SAA)

HOLINS
NYWQWa L0l
S3{NLIY AP0 / / SN 2
==—— ;7 / i AT =—— -
_ 7/ |
D 0z - o1
wuggs = JuBUs el
13NIEVD 3L0WTY

\ \ 8dL-Ing 7S, OXIT

E=TITETET)

00z

05L

002

(Moj[EA/USEID) 3d

pueib 21923 D3 243 U
payiaUU0d 2] 0F 51 PUE PEIYIS = ¢
5i Bey 3 mMu alg
= W 5 E
Th=(peg)z
.= (umoig) T

i OEy 320 243
:pusban

WWPSTT = 3Buay [2eL

(wwonT 38 Bumind Auo) priys peyoad oy
SIS UOIDSUDY J0J0LU UD UDIE[NSUI 2AES| ARN[ED Jod

Idpueg 'z 'Trou

By 2ged Uo dels-uuys

[y 3|2 Uo der-yuLiys

I4pUE LT T

/] (voppeein) 3¢
= (9] £
Th = (peg) z
[-ATNISAZ WOTH Tr = (wnoig) 1
S Bey 3|qe> 243
13NIEVD \ \ & :puaba
~
SE1 HOLOK
0sT [E3 00T

wwgozT = wbus| oL

info@diamatic.usa

Page |39

www.diamatic.usa



S Diamatic

The Choice of Professionals

al
n

SPAET
abieyjon [0OU0D

a1t ot
23A0 UD_.UE

Wer=ur
ZHO9 I2ADETHE
MNOTT 10300

o

[

b

2409 2BA0ETXE
w0330 Addng

LA TR TATA

o

o

o5 | ¥EY
ZHOT

o5 [vER
THOT

info@diamatic.usa

Page |40

www.diamatic.usa



S Diamatic

The Choice of Professionals

cmD0ND 08
]

o7 DOA0 T
T
# 1 TZISNSAK
m m w m. it
QTX ki 9 TX
] e 7 43 dsia]
Y--3T81T - - TSNTT
o Rt I
SpIX dogs-i3
® T pena
0 O
g 1
0Z0 I UL S
W
0T ALY = £ 18TX
w
[padpealire T T
" i

OO r0

info@diamatic.usa

Page |41

www.diamatic.usa



S Diamatic

The Choice of Professionals

Buuun
anug
2080 S T w20AD 61T
T it
7
TN N
W TWZT
7
%
1ALy
i
T+ + +I -1 W k4 T oo
. S S S %L F 9 g Jsor
ki :R 0eTX ?Tx g TN
g | i
= L I 7| " proeel
s .m |||||||| g 1521
P 1z} o
|
i
S s
[4-24 4
THLT Spisyoeg
@ %&zﬁﬁ.«:{.:
TI/EX 011X = LY 5T
TT/ex = !
0T o T WIONE 5T
™ -

info@diamatic.usa

Page |42

www.diamatic.usa



S Diamatic

The Choice of Professionals

e
E
=1
g
=z
L5
e
(=9
el bel el Bl RuY Bl pal pull pu) Bl ) pu
Cable name cable type
N - =
(.cn‘;cvelﬂ'cn ﬁféﬁﬂeé?
[=
5
)
@
=
in
=4
< g ElEIEIE
=
&
jumper
I -
n X< E
'E terminal U [P [P [ P T S Y A
5]
= (‘G"F;fif,ll'c" ~|a|m|a]|a|=|a|=|a] =2 |
<
S
"
o
il
5
5
E
A =
HEHEHEHEEIEEIRE
Cable name cable type
48]
| -
o
.0 %
© b
-]
(9] 5
— =
f-
ke

www.diamatic.usa Page |43 info@diamatic.usa



S Diamatic

The Choice of Professionals

T 15 TIST-06T FIBNE 26Uy usy 1 THZT
YR 5 9EE-TZE Ry uR 1 TWZT
SONET ZE-08.08 Nl F1EE 2] T THZT
16V 582 T160v 582 SRy 1 THIT

AT ADT e D e 0T AL T Tl
TN TTTT1 haZ TV ON i T 151
TN 12111 M2 T TN R 1 1521

Tav 582 T0w 582 FPUBY LUMS 1 1521

TN TITTINIZ TV ON WRuafa 1 1511
LETOI0ED EEDVY 547 L 15, NISHT US4 1 1511

TZITT N IZITINEZ T DN RLER I TSMIT

FEESY 5B R A5 auabieg 1 TSI

TT2-50K + T6LVd-500 TIZ-50 + TEWE-50X Ul + YIME GEgRs 1 TIMIT
TZESNSaL TTTS0-5dK FR[R: o7 Jaustus T Ei
GEOTSAHEY [ T Tt
GALHTAD 90LH 7D 1 0

XEW TTOH TLALY AOETLE XEW TTOH TLALY MOETHE NWETT J0uquca Aouanbsiy 1 ot
E0dVEND E0SVEAD THEL FIPUEL JIOND I8 + 3 I 00T

599 £A0 9-END THL n Burecs s i oot

T4 £ S0d-END THEL A Y50 S0 3D SO T 00T

STSES STSEEH A 2541 45 05 WIS)IT0 ViR 1 [

SISED STSESD 1AV L5 45 134205 JAANO ||RA Wusy-330 VES 1 1601

F00 VX #00 WX SUCEO £ ) 0L TY Sunsopug ! i

RN ST 08 el STH05 Sie PRI § T+ SCH PURED #1670 1 Bl
L0dIW STZ'0S 10dM 52205 P e R R ] 1 9d
WVASTHOTH 5T+ 0T <-0TH ¥d YrRnpE=y S T+9TH <- OTW H0manpsy 1 2d

SEOCYd 91T 05 ST HI0WTILHVM 5§ T+5T Ierpo 1 2d
SEOYA 91905 ST+3TH ¥d TELHM 5 T+5TH PUSED S50 N 94
SEOYd 022 08 ZW H30RTELETA ] 7 54
SENVd 02908 ST.02H ¥d TALHVN ST 02H PUSED S50 1 5d
WOZT0s 0T HI0WNALHVA PRIRNE-RRR 5T 0T Ieepo] 1 2d

TH O T4 00T ALV FEIRH-FEM § L+ YR #1570 T B

L0 TEC 08 10dMW TEC 05 i PRRIRAN § TaZEW e 1 9d
A3 T30S NI ZE90S il PRARH-RIOM 5T ZEW PURE 3070 1 9d
QE0F090 SYH DEC030 SYW OSEADLS S BLUNOW M DOSXD0: )05 Sunsopal 1 w2

Jaquinu ved

Jaquinu 2dA)

uopeuSsap

Anuenty

bey sounap

35I| sHed

info@diamatic.usa

Page |44

www.diamatic.usa



S Diamatic

The Choice of Professionals

5.

Fault diagnose frequency drive

For a complete overview of faults and how to resolve them, check the operating manual
of the frequency drive or the CD, which are delivered with the machine.

If you put the CD in the computer, it will automatically go to the manuals.

Does the inverter shows an “INF” fault, reset the machine. If
the machine does not work after that, call you distributor.

To reset the machine, put out the power supply and wait 5 minutes.
Then start up the machine again. Call a technician if the machine still not works.

I Fault Name Probable cause Remedy
R I2F |[Al2 input] » Meon-conforming signal on analog = Zheck the wiring of analog input A2 and the value of the
input Al2 signal
AnF [Load slipping] = The encoder speed feedback does » Check the motor, gain and stability parameters
nat match the reference = Add a braking resistor
= Check the size of the motor/drivedload
= Check the encoder’s mechanical coupling and its wiring
LOF [DER owverload] = The braking resistor is under = Check the size of the resistor and wait for it to cool down
excessive stress » Check the [OB Resistor Power] (brP ) and [DB Resistorvalug]
(brl} parameters, page 271
L~ F |[Brake feedback] = The brake feedback contact does » Check the feadback circuit and the brake logic contral circui
nat match the brake logic contro » Check the machanical state of the brake
L U F  |[DB wnit sh. Circuit] |= Shon-circuit gutput from braking unit » Check the wiring of the braking unit and the resistor
» Check the braking resisior
L+ F { |[Precharge] = Load relay control fault ar charging = Switch the drive off and then back on again
resistor damaged » Check the internal connecticns
C - F 2 |[Thyr. soft charge] |- DC bus charging fault (thyristors) * Inspectirepair the drive
ECF |[Encoder coupling] |- Break inencoders mechanical coupling |- Check the encoder's mechanical coupling
EEF { |[Conirol Eeprom] = Intermal memary fault, control card » Check the environment (electromagnetic compatibility)
= Turn off, reset, return to factory settings
EEF 2 |[Fowsr Egprom] « Internal memaory fault, power card » Inspectirepair the drive
E~F [|[Encoder] = Encoder feedback fault » Check [Mumber of pulses] (FIZ]) and [Encader type] (EnE),
page 72
= Check that the encoder's mechanical and electrical
operafion, its power supply and connections are all correct
= If necessary, reverse the direction of rotation of the moter
{[Dwtput Ph rotation] (PHr) parameter, page 25) or the
ancader signals
ErFE ¢ |[Cut contact. stuck] |= The output contacior remains closed |+ Check the contactor and its wiring
although the cpening conditions have | Check the feedback circuit
been met
www.diamatic.usa Page |45 info@diamatic.usa




S Diamatic

The Choice of Professionals

I Fault Name Probable cause Remedy
HdF [IGBT = Short-gircuit or grounding atthe drive | = Cheack the cables connecting the drive to the motor,
desaturation] output and the insulation of the motor
= Perform the diagnostic tests via the
[1.10 DIAGNOSTICS] menu
ILF fintzrnal corm. link] Communication fault between option Check the environment (electramagnetic compatibility)
card and drive Check the connactions
» Check that no more than 2 option cards (max. permitied)
have been installed on the drive
» Replace the option card
» Inspectirepair the drive
I~ F | |[Rating errcr] = The power card is different from the |- Check the reference of the power card
card stored
| n F 2 |[Incompatible PB] + The power card is incompatible with the |- Check the reference of the power card and its compatibility
control card
|~ F 3 |[Internal serial link] |= Communication fault between the « Check the internal connecticns
intermal cards » Inspectirepair the drive
InF Y |[nternal MFG area] [« Internal data inconsistent + Recalibrate the drive (performed by Schneider Electric
Product Support)
InF & |[Internal-option] = The option installed in the drive is not » Check the reference and compatibility of the option
recognized
!aF T | [Intermal-hard init] |+ Indtialization of the drive is incomplete » Turn off and resst
I~ F 8 |[Intermnal-ctrl supply] |= The control powsr supgly is incomesct + Check the control powsr supply
I~ F g [[Intemnal- | measure] |« The current measurements are incomrect [« Replace the current sensers or the powsr card
» Inspectirepair the drive
!a F A/ | [Intermal-mains The input stage is not operating Parform the diagnostic tests via the
circuit] carrectly [1.10 DIAGHOSTICE] menu
» Inspactirepair the drive
laF & | [Intzmal- th. » The drive temperature sensor is not |+ Replace the temperature sensor
sensor] operating correctly Inspectrepair the drive
IaErC |[Internal-time « Fault on the electronic time * Inspectirepair the drive
meas.] measurement componernt
{nF E |[internal- CPU ] = Intermal microprocessor fault = Turn off and reset. Inspectrzpair the drive
ocCF [Owercurrent] » Parameters in the [SETTINGS] (5Et-) | Check the parameters
and [1.4 MOTOR CONTROL] (dr-) Check the size of the motoridrive/load
menus are not correct » Check the statz of the mechanism
= Inertia or load oo high
» Mechanical locking
P F |[Power removal] = Fault with the drive's "Power removal Inspectirepair the drive
safety function
s F ¢ |Molor short circuit] - Short-circuit or grounding at the + Check the cables connecting the drive to the motar,
dart =h CionT drive output and the insulation of the motor
SCF ¢ |[impedant sh. cacu] « Perform the diagnostic tests via the
SCF 3 |[Ground short circuit] [1.10 DIAGHN O:__'hT|_:E] menu
+ Significant arth leakage current - Reduge the switching frequency
at the drive output if several motors » Connect chokes in series with the maotor
are connected in parallel
soF [[Cverspesd] + Instability or driving load too high + Check the motwor, gain and stability parameters
» Add a braking resistor
» Check the size of the motor/drivelload
5P F |[Speedfdback loss] (- Encoder feedback signal missing + Check the wiring betwsen the encoder and the drive
» Check the encoder
L nF |[Auto-tuning ] » Special motor or motor whose power + Check that the motaridrive are compatible
is nat sutable for the drive
+ Motor not connected to the drive « Check that the motor is present during aute-wuning
= If an cutput contactor is being used, close it during
Auto-tuning
www.diamatic.usa Page |46 info@diamatic.usa




S Diamatic

The Choice of Professionals

I Fault Name Probable cause Remedy

APF [Apphcation fault] = Controller Inside card faul Flzase refer to the card documentation

LLF [Brake control] = Brake release current not reached » Check the drive/motor connection

Check the motor windings

Check the [Braks relzases | FW] (lor) and
[Brake release | Rav] (Ird) settings, page 1432,

= Brake engage frequency threshald . J_"-PPW the recumn"e.n!:ied _59'-'-“'"95 for
[Brake engage freq] (BEn) only [Brake engage freq] (bEn)
regulated when brake logic control
is assigned
CnF [Com. network] = Communication fault on » Check the environment (electromagnetic compatibility)
coammunication card » Check the wiring
» Check the time-out
» Replace the option card
» Inspactirepair the drive
COF [CAN com.] = Interruption in communication on the |- Check the communication bus
CAMopen bus = Check the time-out
» Refer o the CANopen user's manual
EFF | |[External fl:-LI/2if] (- Faulttriggered by an external device, |- Check the device, which caused the fault, and reset

depending on user
Fault triggered by a communication = Check for the cause of the fault and resst

EPF £ |[Externa

fault com.] netwark
ErCFe |rout = The output contacior remains open = Check the contactar and its wiring
{'3: ntzct. open.] although the closing conditions have [+ Check the feedback circuit
been met
LCF [input contactor] = The drive is not turned on even though |- Check the contactor and its wiring
[Mains V. time out ] (LCL) has elapsed |- Check the time-out
= Check the line/contactor/drive connection
LFF& |[4124-20mA loss] |- Loss of the 4-20 mA reference on = Check the connaction on the analog inputs
LFF3 TAI3 4-20mA |055] analog iI'IFIIJ‘t A2, Al ar Al4
LFFY [[Al44-20mA loss]
ObF [Owverbraking] = Braking too sudden or driving load » Inerease the deceleration time
» Install a braking resistor if necessary
» Activate the [Dec ramp adapt.] (bra) function, page 127,
if it is compatikle with the application
OHF [Drive overheat] = Drive temperawrs oo high = Check the motor load, the drive ventilation and the ambient
) ' temperature. Wait for the drive to cool down before restarting
oL F [Motor averload] = Triggerad by excessive motor current | Check the setting of the moter thermal protection, check the
motor load. Wait for the drive to cool down before restarting
OFF | |[1 output = Loss of one phase at drive output » Check the connactions from the drive to the motor

chase loss]

www.diamatic.usa Page |47 info@diamatic.usa



S Diamatic

The Choice of Professionals

Fault Name Frobable cause Remedy
OFF 2 |[3 ouput phaseloss] | = Motor not connected or motaor = Check the connections from the drive to the motor
power too low = If an cutput contactor is being used, parameterize
= Qutput contacior open [Dutput Phase Loss] (OPL) = [Duput cut] (DAC), page 201
= Instantansous instakility = Teston a low power motor or without a motor: In factory
in the motor current settings mode, motor phase loss detection is aclive
[Output Phase Loss) (OFL) = [Yes] (YEZ). To check the drive
in & &5t or maintenance envireonment, without having to use
a motor with the same rating as the drive (in particular for
high power drives), deactivate motor ghase loss detection
[Output Phase Loss] (OPL) = [Ma] (nC)
= Check and optimize the following parameters: [IR
compensation] (UFr), page ZQ, [Rated moter volt.] (UnZ)
and [Rated mot current] (nCr), page Z2. and perform
[Auto tuning] (tUn), page 25
OosF [Mains overveliage] |- Mains voltage too high » Check the mains voltage
» Disturbed mains supply
OEF | |[PTC1 averheat] = Owerheating of the PTCA probas |« Check the motor load and motor size
datected = Chack the motor ventilation
5 p— - I = Wait for the motor (o cocl before restarting
Ot F 2 averhe = Owverheating of the PTC2 probes
HESEN| [FTC2 averheat) detected g e = Check the type and state of the FTC probes
OEFL |[UE=PTC overheat] |- Overheating of PTC probes
) ) detected on input LIS
FEF | |[PTC1 probe] = PTC1 probes open or short- » Check the PTC probes and the wiring between tham and the
circuited maotoridrive
FEFZ |[PTC2 probe] = PTC2 probes open or short-
circuited
PEFL [LIE=FTC probe] » PTC probes on input LIS open ar
) ) shart-circuited
SCFY |[IGET short circuit] |- Power component fault = Perform a diagnostic tes5t via the [1.10 DIAGNOSTICE] menu
: - Inspectirepair the drive
5CFE |iMoter short circuit] |* Short-circuit at drive output = Check the cables connecting the drive to the motor, and the
) ) metoar's insulation
= Perform diagnostic tesis via the [1.10 DIAGHMOSTIZS] menu
= Inspectirepair the drive
5LF | |[Modbus com.] = Imterruption in communication on [« Check the communication bus
the Modbus bus = Check the time-out
= Refer to the Modbus user's manual
5L F 2 | PowerSuite com.] = Fault communicating with » Check the PowsrSuite connecting cable
) ) PowerSuits = Check the time-out
SLF 3 [[HMI com.] = Fault communicating with the » Check the terminal connection
graphic display terminal » Check the time-out
SrF [Torque time-cut] = The time-gut of the torque control |» Check the function's setiings
function is attained » Check the state of the mechanism
55F [Torquelcurrent im] | Switch o torque limitation = Zheack if thare are any mechanical problems
: = Chack the parameters of [TORCQUE LIMITATION]
(tLA-) page 1720 and the parameaters of faul
[TORQUE OR | LIM. DETECT] (tld-). page 210}
EJF NGET overheat] = Drive overheated = Check the size of the load/motoridrive
: ’ » Reducs the switching frequency
= Wait for the motor o cocl before restarting
www.diamatic.usa Page |48 info@diamatic.usa




S Diamatic

The Choice of Professionals

Fault Name Probable cause Remedy
CFF [Incarrect config.] » Option card changed or removed » Check that thers are no card errors
= In the event of the option card being changediremoved
deliberaely, see the remarks below
» Control card replaced by a control = Check that there are no card errors
card configured on a drive with a = In the event of the control card being changed delibarately,
different rating see the remarks below
= The current configuration is = Return fo factory settings ar retrieve the backup
inconsistent configuration, if it is valid (see page 22320
CF I [Invalid config ] = Invalid configuration = Check the configuration loadad previously
: The configuration loaded in the drive [+ Load a compatible configuration
via the bus or communication network
is inconsistant
Hr g |[Cards pairing] = Thea [CARDS PAIRIMG] (PRPI-) = |n the event of a card error, reinsert the original card
function, page 212, has been = Caonfirm the configuration by entering the [Pairing password]
configured and a drive card has (FFI}if the card was changed deliberately
been changed
PHEF [Input phase loss] [+ Drive incorrectly supplied or a fuse » Check the power connection and the fuses
) ) blawn
= Failure of cne phase
= 3-phase ATWT1 used on a single- = Usez a 3-phase mains supply
phase line supply
= Unbalancad load - Disable the fault by [Input phase less] (IPL) = [Ne] (nC)
This protection only operates with the (page 202)
drive on load
USF |[Undervoliage] = Line supply too low = Check the veltage and the parameters of
) ) = Transient voliage dip [UNDERVOLTAGE MGT] (USh-), page 205
= Damaged pre-charge resistor » Replace the pre-charge resistor
= Inspactirepair the drive

www.diamatic.usa

Page |49

info@diamatic.usa



S Diamatic

The Choice of Professionals

www.diamatic.usa Page |50 info@diamatic.usa



